47. Takeovers and Mergers
1.  Fill in the gaps:

Takeovers are a form of _______________________ (external/internal) growth. They give a firm the opportunity to achieve its ________________________ (tactics/objectives/strategy) much more rapidly than through normal, organic growth. Asda has a 16.5% share of the UK grocery market, market leader _________________ (Sainsbury/Tesco) has a share of nearly 30%. Asda might take 20 years to become market leader unless it makes a takeover bid for one of the other big supermarket chains. However, experience shows that most takeovers and mergers prove unsuccessful. So there must be problems in making them work, such as ______________________ of scale. The biggest problem is when there is a clash in culture between staff at the two different organizations.
2. Types of take-over
Below are listed 4 mergers/takeovers from recent years. For each one, decide whether the integration was: Horizontal, Backward vertical, Forward vertical or Conglomerate.

2.1 Cosmetics giant L’Oreal bought the cosmetics retailer Body Shop
2.2  German car giant BMW bought the UK car business that manufactures the Mini.
2.3 Google bought YouTube for $1.65 billion.
2.4 Innocent Drinks considering buying Sunjuice – the manufacturer that makes their juice products.
3.  Identify the following terms relating to takeovers:
3.1  An agreement between two firms of similar size to pool management and ownership.

3.2  A takeover bid made despite opposition from the defending company’s management.

3.3  The decision-makers who have the power to decide whether one firm takes over another.
4.  Takeovers and business strategy.
Look at this data from research carried out by management consultancy Booz Allen Hamilton into 78 mergers worth more than $1 billion. Booz Allen suggested that ‘Achieve scale’ and ‘Grow existing business’ are quite cautious objectives. They considered ‘Vertical integration’ and ‘New business model’ bolder and more strategic. 
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4.1 Calculate the % failure rate across the two bolder, more strategic types of merger. ______________________
4.2 Give one reason why mergers based on vertical integration might have a high failure rate. _________________

______________________________________________________________________________________

4.3a) What type of merger/takeover would enable a firm to ‘grow’ its existing business? _____________________
4.3b) Why might this type of merger/takeover prove more successful than vertical integration? ________________
______________________________________________________________________________________

47. ANSWERS: Takeovers and Mergers
1. external … objectives … Tesco …. Diseconomies

2.1 Forward vertical takeover

2.2 Horizontal

2.3 Conglomerate (though, over time, Google might manage to find a way to get YouTube to act as a supplier, in which case it would morph into a backward vertical takeover)

2.4 Backward vertical 

3.1 Merger

3.2 Hostile takeover

3.3 Shareholders

4.1 8/25 succeeded, so 17/25 failed. So it’s a 68% failure rate.

4.2 Because it’s taking the firm into a new type of business for which its management is not experienced. Running a factory isn’t the same as running a shop.

4.3a) Horizontal

4.3b) Because managers know and understand the market.  OR because even if there are culture problems, the benefit of higher market share/market power will probably outweigh the downsides. 
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